Question Booklet No.

Question Booklet Code SLRC_2 02 2

D Paper : III

Roll No.

Time Allowed : 10:00 a.m. to 12:00 noon (2 Hours) Maximum Marks : 150

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-64 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 09:55 a.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examinationn Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.
Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, 1.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘D’, then he/she should fill up ‘D’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘D’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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1. TUQ3GT Wae U3 siiawel (@ W :

(A) w12 (B) TFER
(C) =i (D) b2
1. TR0 S Ul Sl (a1 29 :
(A) w1 (B) TF=R
(C) wmz (D) oz
1. SREdE 9AE 91w fshaeams sy e gan an ¢
(A) T3 (B) b
(C) a3 (D) faus
1. SRER Ia9™ A999™ S5 &1 979 Fd130 |
(A) g (B) Zrhers
(C) T (D) fars
1. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamo1 (D) Tingrai
2, N TR FAEI 0T :
A) =% (B) AR 7R
(C) TRl (D) ZErETSl
2. &N TR FUMTTI N 2
(A) =20 (B) TR A
(C) TR (D) ZWTeTS]
2. fifataa srataan aa A FEgEE g A ¢
(A) 9refa (B) w®aN 99N
(C) —=drd (D) zZATEAd
2. AAUATH T& 2H1 1 9 Fq1ET |
A) e (B) %R HER
(C) —=dat (D) AT
2. Name the first talkie in Assamese.
(A) Bhaita (B) Baruar Sansaar
(C) Joymoti (D) Indramalati
3. el AP (@4 T 9 SO TS ?
A) fo= (B) FAREI
(C) e (D) =7
Of:10]
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0 Srafere aaieiera Wiy (D 991 S oaR SaEe ?

(A) e (B) I
(C) forren (D) =
TTETE 58 SAET 9 BEATE € 2

A fewtm (B) Fhwm
(C) =Ffie (D) w9
e H g H d ¢ WH AR 432 ?

NERE=A (B) M
(C) =¥e D) 9g
Which of the following river is in the Barak Valley ?
(A) Dikrong (B) Kushiyara
(C) Boginadi (D) Bharalu
SRS e I8 <5 2

(A) C2[TTIR (B) WA
(C) =T D) wizs
AT ST i1z 2

(A) CalEe (B) i
(C) == (D) ==
STET BTETATSATR RIS 1 ?

(A) = (B) &IA
(C) 9= (D) ®IEA
379 1 Thi J61 13 7

(A) FrAw (B) I

(C) I (D) TS
What 1is the State Tree of Assam ?

(A) Hollong (B) Teak
(C) Saal (D) Peepal

SR (P T13S (IR S<F R Wi Wi oz 2

(A) P19 B) TEEYR

(C) TS (D) ==l
ENE
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TR Wa ] @R R TRE N9 AN i 2 SRS ?

(A) F=PTeE B) ToEA
(C) T D) ==l
T AT AT B0 S AT Afed] FATAME 59 SRTEE € 2
(A) Ta=amT (B) TSI
(C) A=A (D) =
T TFhT 3 Efie A Afet 90 & g ME W E 7

(A) Toraam (B) a9
(C) g (D) B
Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo

~ = 4

951 O “[q1 S FTORee F2e TR S e J2 FOSTEN
THAMEG FHF 4 S «[ [T 41 |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

focy SrEiae Sff el (At (@R FESIE THWRD QT FATHE (ATF W) FATHIT
T35 % BT FI0e JI2F 91 AR ©f Tfee = |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TTEE™E 8HE 58 A6 T AP (hardware) TH HFEH A6 A TH HIU TH ATZA T
ST (file transfer) AT ?

(A) BIOS @@M)

(B) Hard Disk (gTefem=h)

(C) CPU (1)

(D) USB Flash Drive (Z.74.51. %1 2159)

frefaiad g=1 9 39 BEaa T &1 TeaH %1, (95 U Hrgel 9 gal HrI § HEal H1
THANG i & Tod 3T fhar T ahar 2 |

(A) @™ (BIOS)

(B) @ fewh (Hard Disk)

(C) #1H91.3. (CPU)

(D) F.vE. . T 3139 (USB Flash Drive)

From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk
(C) CPU (D) USB Flash Drive
4
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Ty OReT PE-9MTR IWNTINT TE SRS (%S AR WEeNT [l v 40
TN =D C20R :

(A) IRTFRN AT (B) rev&! == 9 s
(C) wRRE! A= (D) [ “Aigie “Fexi=

Ten SRS DGR OWONCE W SRS S[ES AESTSE NEY (AT (P
AFSN 3 =M FAR 2

(A) FRATFEAN Tl (B) rev[at @<k 9=y “I<FewrE

(C) RI[E! e (D) I “Aieiiet “<rexte

T BT RE 13T - WA (9 ~TRTT S 56 T3 @ el IRA A g S | AT @ TeH] ?
(A) HIHTA (B) Fa7e 3N fseama

(C) FTEeA (D) TRIAA

T8 THE I S I WA o TRA-TTT 5 AGHT 21 G471 T 9 G o T3R o TR idl & :
(A) FHHEAH (B) @dgel s fRats

(C) HATFA T (D) TR IS &

The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
AP OIS P! a8 S #I72S ?
(A) <o (B) TIoER
(C) TagIR! (D) TFIRI
@ [T St “orPite “iex] Ay 1 ?
(A) = B) =
(C) T@s™ D) =T
HATATEIH ToHE TEEAEAR (BT FATaTS 8 TTE1T 7
(A) TS (B) M
(C) HUETE (D) T
HTA TR £ 1 91 T HISe T2 B 7
(A) e (B) =0
(C) =t (D) e
Which colour is not present in the Olympic Flag ?
(A) Red (B) Green
(C) Purple (D) Yellow
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9. TS IR TZR (20T
(A) F4TI (B) Wil
(C) =M (D) femi
9.  THIFE AGUR ¥EE 7
(A) Torel (B) wfs
(C) =M (D) Temi
9. TRECHA @A AT AETE
(A) FFTT (B) @feam
(C) =&am (D)
9. TEHI AT T 2 -
(A) FFTT (B) #feam
(C) =&t (D) =
9. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
10. GG 25 OIS’ T © W2
(&) ¥=R (B) wferrel
(C) FTAAm D) =T ol
10. TTHFF 5T QIS AL
A) H2 (B) el
(C) =WE[m D) f7e fergi
10. 9HA 2 TFEE S ATFTETE 7
(&) eI (B) el
(C) wewErE (D) TTeH feeet
10. OHA Wi RS Ffeaz)
(A) 7= (B) Il
(C) #ewmTe (D) i feeeft
10. The National Stock Exchange 1s located in
(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi
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11. faferers sifermm [ =refas Sia coux «mief Tars 5 -
(A) =5 R (B) SRR
(C) =TRRMN D) TR
11, forcs Sraf4s Sifer cIta HiEe Sitd (ouR S/ Uize 4
(A) BRI (B) SR
(C) ey (D) wiEhaN
11. TTEMEE EREHA 5 FETar 1 AR 9m1 s9eE| {94 |
(&) wgerfm (B) I
(C) HATSHAT (D) wHefaaa
11. freaRed == 9 Jhldh 71 8 T3 9 a1 eaaH T2 w1 T8 |
(&) =T (B) S
(C) HATfeTTm (D) FHefam
11. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
12. TeR# (@F0S &foh! *HFS e C4&a 2t 2
(A) #T (B) e
(C) = (D) =T
12. S (FI0 LUSF AE F© &l CALFRTTG AT 2
(A) T (B) e
(C) = (D) =G
12. TS FEEAETE A SHTETE JT58 TR 91 2
(A) =15 (B) =7
(C) =6 (D) =18
12. dfefaia 8, sfa dafraifeadise dam 2 ¢
(A) Tf= (B) 4
) = (D) #1B3
12. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(C) Six (D) Eight
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13. ffAfwsaabres @ aae Seofs famra «@ a2

(A) P (B) SRSl

(C) el (D) @
13. 7oy Seafre whiefera woar camiha Sevifa faxer cone = 2

A) P (B) =

(C) |l (D) w5
13. TITEEH 59 eamE fenrer s At

@A) fag (B) T

(C) g (D) Ha
13. foefaRed 9fear d A H feamea 9 981 f9hadi 2 7

Q) fog (B) T

(C) =g (D) e

13. Amongst the following rivers, which one does not originate from the
Himalayas ?
(A) Indus (B) Ganga
(C) Yamuna (D) Narmada

14. T TSRO Y9 T AE0 X

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
14. SR TG 9 R

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
14. =01 GUTSHATE C1 T AT S 911 2

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
14. T 1 AU HH 12 -

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
14. Water has maximum density at

(A) 100°C (B) —40°C

(C) 0°C (D) 4°C
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15. YIS (e (B *(i1e yrifaq S, freas Wi Svretel 3w dr SRe 391 2% 2

(A) 3ferey (B) wedife
(C) <rewiife e (D) WEoE
15. THR IWIGIGR E1a Sesive, faeas e IR oI wame a2
(A) aifersy (B) Wi
(C) wEfaEm (D) WEToE
15. o9 A SMAAAT SeF-ered 4 [ gaad ™, TAaRE™ TR SEEAEE T HET ?
(A) HIEAMT (B) T@ET=I
(C) TSET™ Tafram (D) JETE TARTIE
15. 99 % Icd1ed, Taaun @ Td 1 HETTH BT Aol A1 06 (G S AT S ?
(A) =i (B) e
(C) =g fasm (D) TSI
15. Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology

16. ToT3fefre ol YRz (e T SR S e g 2

(A) TR (B) T
(C) uFE (D)
16. fcy Srarfvrs omiefem sty @R ST Hier S SesmE 2
&) TF (B) i
(C) R (D)
16. TTETTE BT FTETH R A5 59 BTN STTHS {91 THemT ?
(A) =H (B) T
(C) =R (D) A
16. fH=faRgd o 9 M 91 €31 35 % 919 SHH1 F130 Hal 2 7
(A) = (B) AT
(C) MR (D) HH=
16. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
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17. Ffee moeonss @R WhEe «T9 91%s ?

(A) TR T (B) Qb 7o
(C) T RSP TG (D) <RI TSR T
17. Toca Sral<e OTeel#1|a Y0 (i OTglb “[Fex 2/ it ?
(A) STHERE T B) *E[xb T
(C) SUoM BEa OTg (D) TERTSNA GTg
17. TTEEE 8HE SATHR A T3 o8 TH3T A B T ¢ 2
(A) T-TRTEMEG (B) Ry
(C) ¥ BT #g (D) HieEAMER &g
17. frefafea T 39, $H 91 998 & ™H R ?
(A) FEARET HG (B) BT I
(C) I BHTh1 &g (D) A5G
17. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayvan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu

18. TIOAT (34 T AN ST HN| = T 2

(A) = (B) e
(C) =i D) 7=
18. SAUSA R AST ST 5 STl H S i 2
A) = (B) e
(C) =%h D) %
18.  9TAl A== AT ST T9H1 THAT ?
(A) #F9 (B) HM7
(C) @E8 (D) d[ 10
18. T & feha T 3T o |1 A1 F730 3 & 7
(A) (B) @4
(C) &3 D) <&
18. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
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19. 1=t SREIS], 2022 ATATS 2R fqaw@ | (i 2
(A) =S| el (B) vEwIE AGES]
(C) T2 o =i (D) FRE =i
19. 2022 T 1t FERATS SPI fraxE! o fawem 2
(A) SEH FSS (B) TG AMGRIE]
(C) o e =iy (D) ARY T
19. 1st ST, 2022 21 AR, ATEMA U-TaT (finance) AF3T IR ?
(&) g fem (B) =% HiEd werEd
(C) femafag smi (D) TS BT
19. Tecll SHat, 2022 %1 379 % fod B HE 2 ?
(A) T FA (B) =g Ao
(C) Tewa forea o (D) e A
19. Who is the Finance Minister of Assam as on 01t of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika
20. 31st X6, 2022 ATHTS SORE YT (22 (&7 =R ?
(A) Wi (B) /3@
(C) T (D) T
20. 2022 >T9 31t X ST FOLTE (& e 2
(A) wifem (B) “Rife
(C) Tl (D) =
20. 31st A, 2022 B ¥ HEHE T e g ?
(A) ¥H 34 (B) AM35
(C) AM33 (D) AF 32
20. 31 AW, 2022 H1 8 J fhaq (71 2 7
(A) == (B) T
(C) d= (D) =™
20. Ason 31t of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
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21. foyfeere @R (MR wofiios SeAmm#lis 3 o9 NieREy € TRZd T351 3fee
P ?
(A) WEeEs (B) “ffEaml
(C) = D) 7@s
21, oy SEfae @M weifers s SesmeEie swom YESad SifEsmiie @3z g
AT ?
(A) NEeiEs (B) et
(C) Tfers (D) T@e
21. TTEEMA 99 WIS geif fEsa TEer fega™ HE1 B! aehst] aHerdn ?
(A) FETHTE (B) Hfwardl
(C) TTEAE- AR TG (D) HH T
21. Ta=feiga 0 4 fora stefoma 0, o1 3cTes 9999 9N & SEiicd AR 2d 8 7
(A) FETSETE (B) TSaed
(C) fatua (D) &l
21. In which of the following economies, all productive resources are owned and
controlled by the government ?
(A) Socialist (B) Capitalist
(C) Mixed (D) Dual
22, ToTAe e (FRTH! ZRS V2 SRR 1942 TaI9 SRS Sl S THEH S Far2e 2
(A) S “F (B) IRCAR BTN
(C) 9% TS 7 (D) @sfeyAm
22. oy TraEfre (M FTT 1942 S W3 AR A SIS QT STWiEE WS ZR%E 2
(A) RS “E (B) AR GHFEEN
(C) =19PD TFIf® SHH (D) @5 s ® W
22. TTEMAEM F§ JFTTHTE T TH1AT ‘YTHG AR SEEEREE @1 3 1942 9r8a@E S
ST A ?
(A) Tararsit 7wk (B) oM wfgaq
(C) AW i HEH (D) wifd HeH
22. T 1942 ¥ HETEITH R YA DTET SATCIeH (MEdtad 3 9 fhd =M T I& [y ¢
ENERECIEIRICD (B) waH wfeaw
(C) 3FTE SR HgH (D) wifd Hem
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22. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the year 1942 ?
(A) Shivaji Park (B) Brabourne Stadium
(C) August Kranti Maidan (D) Pragati Maidan
23. 2022 79 SR W12 SRR, TGS A6 2T W 25! I[S72 (202 2
A) FoF (B) W
(C) <rerEH (D) T@ 2
23. 2022 1A TERIHCS @ A0E ACTTSR A6 SF 23 2
(A) o (B) Wi
(C) drerzH (D) TeF 2t
23. 32022 ARYMEA THA GHFAAE HRA T9 TSR] S8 TS Fed A3 53 R 331 i a4
qfag?
(A) FHARH (B) HeT T
(C) TeIH (D) IATCA
23. SHAL 2022 T, T AT H AT H AT T3 2 :
(A) HARH (B) TET TeI
(C) TgH (D) IA T
23. Asof January 2022, the state which has the maximum number of seats in the
Rajva Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh
24, TIEG TG AGHIETS (R TILS OIS TN Hia2e] ?
(A) 2% (B) S*IIF
(C) frpew (D) *WEBE
24, TFE AGE ASTIE (2SR e SFSH| Al Farecew ?
A) =z (B) =TiE
(C) Trpas (D) HEBE
24, & HF AT IR TN GYTE A T9TE IRATE ST FAHH ?
(&) I (B) I
(C) fasmrea (D) ¥
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24. T8 TS % IEEHTA % S B4 9 WA YT 7

INERECE (B) I
(C) fasmrea (D) I
24. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (D) Samudragupta

—~

e WP (Economic Survey of India) &M

25. FrAfEe (R REE ST o2
0?2
(A) JIBR S “ffm (National Development Council)
(B) 9% >2%f (Institute of Finance)
(C) SRer “f2 2fewn (Indian Statistical Institute)
(D) fae vZee® (Ministry of Finance)

25. oy Srafrema ¥u (Wb Sres weftnies wNe! (Economic Survey) &< 5T ?
(A) TreR T “fm (National Development Council)
(B) Tae »e# (Institute of Finance)
(C) SiTer “fsg=e =% (Indian Statistical Institute)
(D) 9@ @R (Ministry of Finance)
25, TITEMETE A S9311 3hA1 e @ 31% e @l fagdn 2
(A) TR ST Tﬁ'ﬂ'ﬁl (National Development Council)
(B) SHITIE 3% Hrsd
(C) e wfefema s=iere
(D) Taf+fa 31% B9
25. fAfeEa § 9 19 9T 1 3T T T I1d LT 2 7
(A) g famm aftag (B) foa =™
(C) Y9RAHE ARFSHE T D) faa ==
25. Who among the following publishes the Economic Survey of India ?

(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute (D) Ministry of Finance

E%E
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26. SOR SN [WiF TFTE W@elERE Soniae 2E UDAN © ‘A’ 51 < @51 {5 2
(A) ¥ (Aam) (B) <¥F (Air)
(C) =S (Aakash) (D) «ferR= (Aviation)
26. TSR WHNEE [WE TADE WFUFERE Sl I9%e UDAN *¥ore ‘A’ Fh 5
CARIRT ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
26. wra fafye fyuaa fafafe= geme ‘UDAN gum faemms, ‘A’ 2 91 g9 ?
(A) o™ (B) ™
(C) HHE D) sTEa
26. 9TA % PTG 32T TTeH =1 Teed, ‘UDAN’ § A’ &1 #1379 2 7
(A) Aam (B) Air
(C) Aakash (D) Awviation
26. What does ‘A’ stand for in ‘UDAN’, the imitiative of the Ministry of Civil
Aviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Awiation
27. %10 714 (53 TG YFTRAT TS TS (21! 2ol TOR (@R (G1 5 2
(A) @R B) HTtez
(C) T2e (D) =i
27. T 10 3P (3 GIFE AG R NETREIA A0 (T SR 2P 22y THTS = ?
(A)  QFEDET B) BHrax
(C) Tzl (D) T=r
27. %10 R TS SR T8 TH 59 FHeH A1 frates arari s 2
(A) TIEEA (Airtel) (B) i i wE (TCS)
(C) TadT (Wipro) (D) F@m™@a (Reliance)
27. HHAHFHE T 10 AR HUS TR FodTh 1 182 L FTeA Tact TRAF B 51773 7
(A) T (B) dfiwa
(C) T (D) fremE=
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27. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance

28. =% D el et i Al 7<5eT -

(A) SNIIE TP WIE THI9 TESSI2 (5155
(B) el 2% i3 S SR T™ 39

(C) =57 PR o qrees

(D) Y[oeE G2 N TEae

28. =WAS we 2oy FCAEE -

(A) SHAIS HHTF QR THF TS S(B ATDH
(B) wi<eell B wife] 4 o vw 9
(C) e PR2 R ATSF
(D) Wreae GIiEsE @3 Teaes wxl
28. TS BFARE 1 ARTTETAGHA 7
(A) WHE FATESH AR TR ToeaaqqTg Ted

(B) 3T¥9T ATEF Al AR I =35 59

(C) wTaiee 3T TA[%
(D) TATHATA T8% AR FATEH g
28. TS AT ] T fhaeh g 1S ¢ 7
(A) HTHE 3TFEH T TER FoeamuTs 7ed (B)  3FIN 3TEH ! 3R gUTHEE 9
(C) wrdde 3R TH1% (D) AT 8% AR a9 g
28. Swaraj Party was founded by :
(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose
(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das
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29.

29.

29.

29.

TR QUM (FRD] SR X, Tife, a9, o o saEe fofes e oo
fercay s 99 ?

(A) ==y 25 (B) ejoev 13

(C) =mzn 15 (D) weER 19

SITeR FAHIET F UETe N, Tife, 3, o g3z e fefers Ty Face o
4 TR ?

(A) 257 4T (B) 13 4t

(C) 157 a7 (D) 197 4=t

THATR Afatse 59 @A 9RE, Bof, 2, A™H AW JTEME A1 9@
AACATHG T 24T 2T ?

(A) w1 25 B) w113

(C) @115 (D) @11 19

YA A3 1 B 91 AFwI¢ 91, ToAaoT, Iid, Fofl 37 FH =M % IER T YeHE &1
T2 ?

(A) FT=T25 (B) T2 13

(C) #g=ae 15 (D) T2 19

29. Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
30. wZmm Ni7E W SWIAES (ol 5747 (5F) SAES :
A) fa=ivE B)
(C) ZR™EEMm (D) wHii=
30. wZEW HfvE *02F FWIITE (9l o7 (59) SALS -
A) faEiva B) frt
(C) =ZrIR™™M (D) TeE
30. HTEEE 37T A ST AT WIEI, T THET (16 THE) AET |
(A) SR (B) feeeft
(©) e (D) e
30. TEATEE (T3, JEHE 37T e I8 T 7ehadl f24d 2 -
(&) TR (B) feeeft
(C) #eusTg (D)«
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30. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is
located in :
(A) Byapur (B) Delhi
(C) Hyderabad (D) Bhopal

31. N Ui waifmer 5 © oeEs -

(A) FETs (B) wR=h

(C) warzhl D) fe=zre
31. SPIN Ufwea walamier wei%s -

(A) e (B) Wiz

(C) @D D) o=y
31. M Aehet FIHAT A 5715 ?

&) faeme (B) SfaT

(C) TaTEr D) fes
31. 3799 ufewhel Hiors f&d 2 —

A) faear (B) SR

(C) A= D) fems
31. The Assam Medical College 1s situated in :

(A) Silchar (B) Jorhat

(C) Guwahati (D) Dibrugarh

32. TS TIFER SCI9MS A e W [ FRIF 010e oo ?

(A) GRRel B) “ifvzFs!
(C) TelEm=RE=e= (D) (EI2l TR
32. TES AR SIS R ST (BRIGA IS IS ?
A) Hamm (B) ~ifspzael
(C) TeEbmRmE™m (D) JrEoiel Tme
32. UTd TETH o, T99F 3599781, TEEH Fes1 A6 g ?
(A) BEIEH (B) dEHATHEHI=A
(C) FFaEH =T (D) TS A HFTTE
EME
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32. fwom gugy, ywa 9whn F1 o 1ea & 99 Je1d ¢
(A) ZEpER (B) ==l
(C) TefSeefmm (D) TrF fae

32. The mission Indradhanush, an initiative of the Government of India, is
associated with :
(A) Immunisation (B) Cleanliness

(C) Dagitalisation (D) Highway development

33. TS F AT ZMR AEIT AR TS TR I T 2

(A) el — SRy (B) &l — =™
(C) TN — e (D) <fefz — Efay
33. T SafwsTores (dance form) ' OIF 7 F© ATSHA TN W (e (HTIMG 97 ?
(A) Rl — SERTY (B) =N
(C) f=IRIGY — t=FamE (D) <fef — Tz
33. TTEEE BFE 99 AT AEEE B AR 6 30513 T3S TR ?
(A) F&ETI — A AT (B) =HT— 9™
(C) HAfesrgd — Hien (D) et — srfeam
33. faefdfEd 9= 1 31l J63 F91 3R 37 Ja U531 % Jed 479q 8 7
(A) FeFTH — AHAS (B) =T — EH
(C) WATEzTE — (D) FATeH — 3t

33. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriya — Assam
(C) Mohiniattam — Kerala (D) Odissi — Odisha

34. PR GG INCRE T (Ramsar site) TR (202 :

(A) TR e (B) 7Tl

(C) Thgafa (D) To=z-TweamE
34. AN G TRHE AZG (Ramsar site) ?:*‘r?ﬂ-_\gﬁ 55

(A) T (B) qTHeR]

(C) TFga D) fo=-TwraE
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34. TTEEE BHE 931 @M AFIA Ramsar site f5@T |
A) grrfaer (B) =tger
(C) =gt faet (D) feg-d@mn
34. 3T9H 4 UHAE THH A5 AHYH 2 -
(A) feIr & (B) ARGATT
(C) =Tes=iet (D) feg-d@m
34. The only Ramsar site wetland in Assam is the :
(A) Deepor beel (B) Bordoloni
(C) Chandubi beel (D) Dibru-Saikhowa
35. 3o wFIER YNEF @G @G Wie, @b Apie” HTFT e YT AR ?
(A) T S R Feqe TFAER
(B) SR NZOIoR
(C) Wizal i M S WFeIeR
(D) NIa 727 TRl WFI R
35. fersferre Y@e@a @Hi “Tab avie @S Tuie” “fawEe i i HeyE way 2
(A) =rZ s “(fFamR e YRR
(B)  SITTaRT SR
(C) ¥fz=l e e T WgeIey
(D) NIFa 7{w Terie] @I oR
35. TTEEME aFE 99 H1 TaBEal “9E 79131, 51 TG AEIRa ATl aArest 147 ?
(A) FmEfa 3R @ 3179 T fawE (B) AR SeTE i fawE
(C) FEAMIUGE A IMEREITTFE (D) Fg 90 SR =1 96H
35. faeAfafEa d 9 ®F o mem 38 53131, 98 1 A1 H1 T8 9 I8 8 7

(A) T FAR TEAR FHeAT =T (B) uTHm faed T

(C) Afeet w& 91e 9 = TeE (D) A4 FaeA o e

EI%E
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35. Which of the following ministries is NOT associated with the initiative of
“Bet1 Bachao, Beti Padhao” scheme ?

(A) Ministry of Health and Family Welfare
(B) Ministry of Rural Development
(C) Ministry of Women and Child Development

(D) Ministry of Human Resource Development

36. TINfe9® (FMG! 2 415 ToRIN 493 OT® Sfee % ?

(A) TEREE B) e
(C) TeEsls (D) FCEFo!
36. o0y TraElS (M 2D e CoF UITed T T R ?
(A) RIS B) &3
(C) EEAle (D) WG
36. TTEMEM & ST T FFLE ARl g ?
(A) FeEEH (B) ST
(C) =TE (D) HEfET
36. famfeiad § & %H a1 = T2ioad &5 & gaied 781 8 7
NER-ERIEIC] (B) s
(C) =mTETE (D) dwifer
36. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita
37. TR (TS TN “ € (T 59 (GST) TR 51 2 2
(A) SR (B) T
(C) <pieTiet (D) ! &2
37. T oD 29N #o € Ol T4 (GST) AR FCaZe ?
(A) S (B) T
(C) el (D) T =l
37. 9 BIEUE FARGSA (T SH AR AMHa < (GST) TT7E F1ef 7
(A) S (B) wH
(C) et (D) FHER
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37. 9% U ¥E1HL (S TH.A.) AFL HA AT TEAT GA B AT 7

(&) (B) ®H™
(C) hATEl (D) A TaT
37. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
38. S WM Tewen 17 © 55 e @7 20 S| 91 (202 ?
(A) wPTY (B) dwe =fyF
(C) el (D) 7l
38. SIOR FIUIEE 17 7L Al (FIbH (95 [ 5Ca 2
(A) wPTE (B) Ufeam =iz
(C) =yl D) et
38. TR FeE | SR TAES WRATH s adi4 @1l 17 81 Aes1 g ?
(A) ARG (B) w189
(C) F= (D) =t
38. WA % A a9 1 377=¢ 17 fhash e A Faga 2 7
(A) T (B) ST HIGT
(C) Fr&raal (D) =t gd1
38. Article 17 of the Constitution of India deals with the abolition of :
(A) Slavery (B) Bonded Labour
(C) Untouchability (D) Sati

39. 1919 T M#¥S @R ¥G1 Al BRI AEG© (2l 112 ?
(A) JNSFD 3 92 F7¢
(B) W'THB TNZF © FRFERT €T
(C) = [aeie
(D) SifeREarET 5 IS Kol ]

39. foT0 StaErre & o= 1919 @ 7KH® =fey 2
(A) FIeFH =% “
(B) Wb GNMFIE TZE & Iel 2wfza
(C) %
(D) SR SR 7 4w B X oeT]
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39. TTEEM 59 FTUEAT 3 1919 ATUTEE TAR AN ?
ENERICCACCEREIPEILID (B) I — IR BEESTAE
(C) =TeAT SREEIAAE (D) SrAATETE SF FAREAE
39. frafafed @ a®A Haea 1919 AT g2 41 7
(A) Tfore TFe T fepanan (B) W GBS GIT G HI1T3
(C) =T 1 TaTeH (D) SreFET 9F F1
39. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
40. forafer<re @wG! ook o weag ¢ s g9z’ wafre S weef 2019 T4 TEE NES
Y T4 02(2e ?
(A) = *ifF wieaw (B) o ) s
(C) &1 2 3 = M (D) & Wl S
40. ooy Sr4e @ el o9 o ¢ e I TATe T[S 2019 A G
0T ST 2R(25 ?
(A) TEHTF e (B) o (9] Sy
(C) & fz @ @ufeas (D) & ACTS Sew
40. TTEER T AEYTEET 3 2019 ARYTA JAE THEITE “IFET e JYIAE FAW w@iafa
RG] AEAT JHE FeHEE 2
(A) T i A= (B) A faeprar AT
(C) & @993 A9T= (D) A TGS IATIA
40. T FFIA 3 A ITAT H qi1 A 6 T Jarg 2019 A FArargd 3 9 HH df A5 %
EARIERiN
(A) T Wfea 19T (B) = fo 9™
(C) & & 993 A9TH (D) <A FETHT IATTH
40. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) dJal Vikas Abhivan
(C) Jal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyvan
ENE
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41.

41.

41.

41.

41.

‘A @ @1 P Eee val fRifer 1:.00 qere 1 W, /@ree @6re 1@ S9s S | B @
O %W P T 7[1 QT35 S TR 1:10 951 2 3. /T (@957 qrq WS F<0 | A
B & AT QIETS YR, (0% PQ IR E A :

(A) 1.5 B) 1.75 .M.

(C) l.2fsf. D) 1.25fFM.

‘A’ OfF @ P @%F 20F [9eae 1:00 xR efe onaty 1 [hid woor uF 99 |
B’ 0% 1:10 ¥R @2 w2 P 12035 @32 SNt 2fe orae 2 bR wosr Al

wE 9 | A% B, A’ @A e Q W W = o3 PQ R -

(A) 1.57®.M. (B) 1.75f=.M.

(C) 1.2fFf. D) 1.25 %M.

‘A’ T P SET%T™ 1:00 T1.w8. foremE 1 (9. /55e) @RI TSst gaadl | ‘B A& 5 @
ST P fem s we fanma 1:10 frum. formma 2 fa. /A% @rutEst gEam | 9 B
ITA’ G AT Q & AFTEFARAT, PQ T 41831 SE -

A) 15fsf (B) 1.75f®.fm.

(C) 1.2f®.fa D) 1.25f® 1.

‘A’ TR 1:00 591 391 FET=E P A 1 1. /9. FHI177a F IE il 2 | B A FHT 34T
T P o 3R 3 feom 9 g 1:10 =91 2 1. /3. H1777a 9 = &l 2 | A B, ‘A’ 9 Q

R AAa e, AIPQ I 2
(A) 1.5 .40 (B) 1.75f%. 4.
(C) 1.2 f®w.H (D) 1.25f%. .

‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.
‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/sec. If ‘B’ meets ‘A’ at the location Q, then the
distance PQ is:
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42.

42.

42.

T 4 SANET o7 22T 40% ZPT 1 27 W O (129 20% I 1 27 | $709 X0
RIS SR e
(A) 20% (B) 40%

(C) 24% (D) 28%

G5 T FT 22T 40% TN 25 QT S 20% 6 Fa1 257 | Y50a & “Af a7

209
(A) 20% (B) 40%
(C) 24% (D) 28%

T FETE A T A= 40% @HAMET 3R S 20% TRET | FHTE T ST A=A
EGEELCICAR IR

A) 20% (B) 40%

(C) 24% (D) 28%

U F5 H1 HAd H e 40% 1 HH! 1 A1 2 AR TH 20% H1IHg FH Al 2 | FHT A
5 TG 2T -

A) 20% (B) 40%

(C) 24% (D) 28%

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :

(A) 20% (B) 40%
(C) 24% (D) 28%
SPACE FOR ROUGH WORK
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43. ez ofen ofer @=F 53 @R ol T3 Wte afehin of ot i @1«
e e T 12 (@7 | 37 o2 2o il T 12 @ & 3([% F3, (o2 30 73 s=© &)
(A ¥T w1 AT
(A) T5,420 (B) ¥5,580
(C) ¥5,620 (D) ¥5,780

43. el O el <IoR TSI 7R e (3 2ifelve o 1 A1 Sifeals v 2t T 12 Bl
TR | AW o7 elow T T 12 Bl el Mm% 3 3w0a o3 fered (i SR 30 e ooy
209
(A) T5,420 (B) ¥5,580
(C) 5,620 (D) 5,780

43. TS TEMA gRYH 5% (Savings Bank) 37 U AT | 5 SHYHAE fS=1311 99w a1
A FRTAFE YA Toa1 g3 3 12 T aMad ST 937 | Jie 9313 12 T 99 -/
SRYFAEE | AFTETRA 9 30 H SE-EE Tt = ey a1 5= e Sm =
(A) 5,420 (B) 75,580
(C) 25,620 (D) % 5,780

43. TS T TG 9 A 39 qe o T 59 FHA 2 6 2 et e ekt 5ty 39 e
fea 1 sm fwr & T 12 339 21| 3 78 7act fea T 12 5w &t 2, a1 e grn 30 fedr &
379 9 ST H17TS A W 2R -

(A) 75,420 (B) 75,580
(C) 5,620 (D) ¥5,780

43. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit. If she starts
her deposit with ¥ 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) 5,420 (B) ¥5,580
(C) 5,620 (D) ¥5,780
SPACE FOR ROUGH WORK
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44,

o271 T48lb (Data Set)
1,2,4,1,5,12,7,8,5,1,16, 17, 12

T W e
(A) 8 B) 7
(C) 5 D) 4
44, =2 IAFHA NN R 9
1,2,4,1,5,12,7,8,5,1,16, 17,12
(A) 8 ®B) 7
(C) 5 (D) 4
44. TTEEE BHE G THEF TSATE ] A0 |
1,2,4,1,5,12,7,8,5,1,16, 17,12
(A) 8 ®B) 7
(C) 5 D) 4
44. 2 2 FHI ATETHT T4 1T |
1,2,4,1,5,12,7,8,5,1,16, 17, 12
(A) 8 B 7
€ 5 D) 4
44. Find the median of the data set.
1,2,4,1,5,12,7,8,5,1,16, 17,12
(A) 8 B) 7
(C) 5 (D) 4
45. \/%E—F—\/Eamﬁcﬁ;w |
729 144 81
5 7
(A) ) B) 1z
20 11
(©) —o7 D) 38
SPACE FOR ROUGH WORK
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45. 1/220—1’£—”’E£§YH
729 144 81
5 7
A -2 B) -
(A) 9 (B) 19
20 11
o = D) ——
© 27 ®) 36
225 25 16
45. | _,/—_,f—ﬁrmf ?
729 144 81 et
5 7
A -2 B) —
(A) 9 (B) 15
20 11
C) -2 D) ——
© 27 @) 36
45. 1/%20 —Jﬁ—JE =1 9 1A HI7T |
729 144 81
5 7
A — B _—
(A) 9 (B) 19
20 11
o = D) ——
© 27 ©) 36
45. Find the value of 1’2_20 —JE —1/E.
729 144 81
5 7
A — B) ——
(A) 9 (B) 15
20 11
C) —=— D) ——
© 27 @) 36

46. TI] GF ST 77 3 I “(08 SAXG] R Tl T Jq “IR | SAHGF F37 J+

i’ﬂ:
(A 3 (B) 4
©) 5 D) 6

SPACE FOR ROUGH WORK
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46. QF5 I FACE 3 TN T FA0H G T SitaF e e = | wHieHa aa
(A) 3 B) 4
© 5 D) 6
46. T TETHE R (fraction) TSI (numerator) 3 TREARAT o TETRI 1371 o
3/4 SET | ¥ SGTERE el THAUET AT
A) 3 B) 4
(C) 5 (D) 6
46. & fwdifw=% Ao d 3 F1 g 2l 8, A= T dA-TuE F g ad 2 | s sz
A) 3 B) 4
€ 5 D) 6
46. When the numerator of a fraction increases by 3, the fraction increases by its
three-fourth. The numerator of the fraction is :
A) 3 B) 4
©) 5 D) 6
1 1 1 2 o
47. \/; \g \Ew ‘g TR T

(A\/§ B\/T
)5 (B) )

1 1
SN D) |-
© 3 ®
SPACE FOR ROUGH WORK
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1 1 N1 \F o
AT, =, =, > w2 qu g e
2 3 4 3
(2 1
A — B —
(A) 3 (B) 2
1 1
C) = D) .-
(®) ‘/; (D) 1
1 1 1 -~ (2
47. \ﬁ N R o LU =R R R R EEIEIE IR
2 3 4 3
2 1
A — B —
(A) \/; (B) 5
1 1
C — D —
(©) \]; (D) 1
PR L L e R e SR T e
2 3 4 3
2 1
A — B ,’—
(A) \/; (B) 5
1 1
C — D —
(©) 3 (D) 1
47. The smallest among 1’1, \P, 1f1 and \/g 1s :
2 3 4 3
2 1
A — B =
(A) \]; (B) 1I2
1 1
C — D —
(©) 3 (D) 1
SPACE FOR ROUGH WORK
[=1%i =]
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48. T YRR FAALG. 40 WF HEeq AT, 4 | FRAMGE A 12 2@ Hzed @isree
Q’q :
(&) 20 (B) 24
(C) 28 (D) 32
48. TED MR AL, 40 QTR ALALE, 4, 7% AT 72O Al 12 B O O e ;
(A) 20 (B) 24
(C) 28 (D) 32
48. AR FAFATA g 3. 9. (LCM) o1 SEE 40 HR s@7H . #LAL (H.C.F.) 71 9=/ 4 |
e & AT A TS GHE BRATSAT 12 S, 36T & A T AHA A ST
EER
(A) 20 (B) 24
(C) 28 (D) 32
48. T FEATH 1 UA.HLTA. 40 & AR 371 T.HLUH. 4 2 | Ag o FATHA] o o= 1 AR 12
3, AT IR HTIM 2 :
(A) 20 (B) 24
(C) 28 (D) 32
48. The LCM of two numbers is 40 and their HCF is 4. If the difference between
the two numbers 1s 12, then the sum of the numbers is :
(&) 20 B) 24
(C) 28 (D) 32
49. \/51 4134 + 5942+ V16 + /9 T -
(A) 52 B) 8
(C) 19 (D) 9
SPACE FOR ROUGH WORK
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\/51+\/134+5\/42+\/E+«/§ e i == -

49.
(A) 52 B) 8
(C) 19 D) 9
49. TTEEE BEE UM 9 feE |
\/51+\/134+5\/42+«/1_6+\/§
(A) 52 B) 8
(C) 19 (D) 9
49. VAT
\/51+\/134+5\/42+«/E+\/§
FIAAE :
(A) 52 (B) 8
(C) 19 D) 9
49. The value of the expression
\/51+\/134+5\/42+JE+J§
18 :
(A) 52 (B) 8
(C) 19 M) 9
50. 273 239 FECE ST 1 20, 3 T3 239 F0e1 ST 2 21 S 4 (F T3¢ FI<0a1 ST

3 2l (13 AL (2B

SLRC-2022/P-ITI/D 36 et

(A) 25 (B) 41
(C) 13 D) 11
SPACE FOR ROUGH WORK



50. GFb AICF 2 A SISl FACE ST 1, 3 AN TI9] FACE ST 2 QT2 4 AT S FACE
SreIY 3, 7o -
(A) 25 (B) 41
C) 13 (D) 11

50. HHH FAATARGT 2 S THHETE TG G FHT 1; 3 S T T e 53T 2 310 4 51
TS U@ R ST 3 | & 37 S S
A) 25 (B) 41
(€ 13 D) 11

50. U A1 e 2 Y fauad Sl 2, S IThA 1 WarE; 3 AW I W2 IMs=ar 2 A4 &
P G R 3N FFaA1 8, T8 & -
(A) 25 B) 41
€) 13 D) 11

50. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :
A) 25 (B) 41
(C) 13 (D) 11

51. 5! R4 2 : 3 AT HTE WF [H2ed A.97.%. WFE 9L, 8. T 7T 2z 96 | W4l
61 (1915 (2'.
(A) 8 B) 12
(C) 20 (D) 36

51. 720 IR S 2 : 3 AR O .8, AR 9LALE. @7 “[79 T 96, I 120

CT5[FFeT 247 :

(A) 8 B) 12
(C) 20 (D) 36
SPACE FOR ROUGH WORK
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51. HEA HATAI FIJLTSAT AWM 2 : 3 FW F@0F g.HALA (LCM) HW &.31.91 (HCF) f4
SR SEE 96 | & HHA 3740531 g 9@ 1 g |
(A) 8 B 12
(©) 20 (D) 36
51. TIFEATC2 : 3% M A & 377 376 LCM 3R HCF H177H% 96 2 | ST H1 3w 2
(A) 8 (B) 12
(C) 20 (D) 36
51. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF
1s 96. The sum of the numbers 1s :
(A) 8 B) 12
(C) 20 (D) 36
52. WA T FENE B O 25% (A2, (ST% ‘B’ T 7awD ‘A’ T TENBOLE (<o *[TIH W 27 2
(A) 20% (B) 25%
9
(©) 12%% (D) 16%%
52. AW A’ B’ CATF 25% G (Tl 1% o0 B-aT (T ‘A’ (2T FO %ol Y 30T 2
(A) 20% (B) 25%
9
(C) 12% % (D) 16%%
52. Jfg A T3 53311 B 7 suarwgz 25% =iaq, 3tee B 9 597311 A 4 39443 59 @l
©Ta?
(A) 20% (B) 25%
9
(C) 12% % (D) 16%%
52. 3¢ A 139 B Ia4 A 25% 319 7, a1 B H1 a9 A & Ia & fha1 Iavrd 3 2 7
(A) 20% (B) 25%
9
(C) 12%% (D) 16%%
SPACE FOR ROUGH WORK
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52. If the salary of A is 25% more than that of B, how much percentage is the
salary of B lower than that of A ?
(A) 20% (B) 25%
(C) 12 Lo, (D) 162 %
/ L— /70 — /0
2 3
53. AHax= \/g , (o0 ad + % A (T :
N
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(C) 95 D) 9
53. Wia=3SE at+ LJ‘ EERICE
x
1 1
A) 9= B) 2=
(A) 9 (B) 9
1 1
(C) 95 (D) 9
_ a4, 1 >
53. Fax= 3, st + — T Am AW E
X
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(©) 95 (D) 9
53. Aex= /3, d1at+ % FIAFE :
X
1 1
A) 9— B) 2=
(A) 9 (B) 9
1 1
(C) 95 D) 9
SPACE FOR ROUGH WORK
ENE
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Ifx=+/3 _ then the value of x* + L 1S :

53.
A
1 1
A) 9— B) 2-—
(A) 9 (B) 9
1 1
(C) 95 (D) 9
54. i L-Y_Z% , (oW xrytz T -
3 4 7 2z
(A) 1 (B)
©) 2 (D) 4
54, 2 =Y % mem XY T2 qqwE -
3 4 7 2z
A 1 (B)
©) 2 (D) 4
54. Sz X=Y -2 sreen XY T2 frqmmn e
3 4 7 2z
Aa) 1 (B)
©) 2 (D) 4
54, A LY _Z HXIVTE gy
3 4 7
(A 1 B) 3
C) 2 D) 4
54. If i:X:E, then = Z is equal to
3 4 7
A) 1 B) 3
©) 2 (D) 4
SPACE FOR ROUGH WORK
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55.

55.

V&S BT <y AW ¥ FCwe1 1 TifhT TN ke Q9T 64 | YRAITFES [ Ty

VTS TR (202 :

A) 13 B) 11

(C) 16 (D) 9

T 20T 490! TN (consecutive alternate) YR¥J1F II9FT 64, GTHT N4 Ty
Sl

(A) 13 (B) 11
€) 16 D) 9
55. T HIL S Al AT STAHTEAT FEE 64 | FARF ATeE THArad 373t S0 = SeH
(A 13 B) 11
©) 16 D) 9
55. TR AT UshIal SEa131 1 I 64 2 | 3940 J 9949 D14 G=AT1 2 -
(A) 13 (B) 11
€) 16 D) 9
55. The sum of the four consecutive alternate numbers i1s 64. The smallest
number amongst them 1is :
(A) 13 B) 11
(C) 16 D) 9
56. /0.04 ++/1.44 ++1.69 ++/0.0009 < ¥+ 2% :
(A) 1.73 (B) 2.03
(€) 2.73 (D) 1.03
56. ~/0.04 ++/1.44 ++/1.69 ++/0.0009 9T :
(A 1.73 (B) 2.03
(C) 2.73 (D) 1.03
SPACE FOR ROUGH WORK
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56. +/0.04 ++/1.44 ++/1.69 +0.0009 T am=311 e

(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
56. +/0.04 ++/1.44 ++/1.69 ++/0.0009 FTAAZ:
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
56. The value of 4/0.04 ++/1.44 ++/1.69 ++/0.0009 is :
(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03

57. TG ABIR 45% T Wil B <1 A51F 30% I YW | 2% W AR 71 OIS

=T
(A) 2:3 (B) 3:2
€) 3:5 D) 2:5
57. QT YRAE 45% BF GFH WA 30% AT AW | 2en we2ioa ek e Aze
el
(A) 2:3 B) 3:2
(C) 3:5 D) 2:5

57. AMd FATANT 45% 31T HATATE] A JFATHT 30% S F99 FET | AT FAWT Ay
CEEEIERTEOIERIEIEIR]

(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5

57. U 9EA1H1 45% T FEAT % 30% 3 F9M 2 | T8ei ST 1 ¢l S 1 9 3977 & -
(A) 2:3 (B) 3:2
(C) 3:5 D) 2:5
SPACE FOR ROUGH WORK
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57. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is :
A) 2:3 B) 3:2
C) 3:5 D) 2:5

58. GGl 7EE (RGNl &1 qRF 98 B BIZF [[Ceal (22s | 0ei & &1 12 AW WHlb [ 275 31 419
HRJR e “INITE BiEra Si9l #(12(%, (08 WHlb e 20756 31 q1F 5 (202
A) 5 B) 7
(C) 10 (D) 14

58. 985 5% (toffees) @< WaT (@lF1A 20 S0 A (RS | 257 | Fa1159 LTG0 (20E, o5
S HRATIA 1329 BFF (toffees) THE | FoGLS (RLAAA AWog 4! e -
(A) 5 B 7
(€) 10 (D) 14

58. TMHA AT EEH BEETHIAT 98 AF (toffees) TR FARMM | F AT BETET AT AT
AT A EEEHET FATA 2 17 fF AREE | S 9FE SEEeE
ST AT ?
(A) 5 B 7
(C) 10 (D) 14

58. UH T H %D AL I 98 TNHAT A1 T3 | AYE b UcIsh TS o1, AASHI a1 S&AT H ST
Zitwat et | ogg o org 1 FE Ui -
(A) 5 B) 7
(€) 10 (D) 14

58. 98 toffees were distributed to some boys in a group. Each boy in the group got

twice as many of the toffees as the number of boys. The number of boys in the
group was :

(A) 5 B 7
(C) 10 (D) 14
SPACE FOR ROUGH WORK
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59. W cos B = %, (S(® sec B T« :

2 2
a“—b
A —— B —
(A) b (B)
(C) +aZ+b? D) b
a+b
59. A% cos B = %, Ol sec 6 YT« 209 :
2 2
—b b
a 22 ®B) -
b a
(C) +a?+Db? (D) b
a+b
59. ﬁcosezg,mseceﬁqﬂmﬁﬁl*l
2 2
a“—b
A — B —
(A) b (B)
(C) +aZ+b? D) b
a+b
59, ’JﬁcosBZ%,ﬁTsecBWﬂﬂ@ﬂT:
2 2
_b b
a =2 B) —
b a
(C) +a?+Db? (D) b
a+b
SPACE FOR ROUGH WORK
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59. IfcosH= %, then the value of sec 6 will be :

2 1.2
4 Ya b ® 2
b a
(©) a®+b? D) b
a+b

60. @57 WA fagEd “f NI T2z 6 @A | fagsGR I 2
(A) 6w 2 B) 6 w.[K.2
(C) 3w.f.2 (D) /3 w2

o =

60. <5 S fagrea «f4fy 6 orfy: | fagshavsawe ==

(A) 67TN.2 (B) 6 vifx.2
(©) 3wif.2 D) /3 wifi2
60. TAFATRE ARG 37w =yt arfte faamn 6 2.fa. s&eer 3 stefmts gearsfaan
ECR
(A) 6 @.fm)2 (B) /6 (&.fm.)2
(C) 3 @fm)? D) /3 @fa)?
60. U FHSIE YT H1 @M 6 9.H. 3 | I H1aaFa 2 -
(A) 632 (B) 6 &2
(C) 3&.2 (D) +/3 &2
60. The perimeter of an equilateral triangle is 6 cm. The area of the triangle is :
(A) 6cm? (B) 6 cm?
(C) 3em? (D) /3 cm?
SPACE FOR ROUGH WORK
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61. Choose the correct order to complete the sentence :
[.  Ismelled the gas
II. Door of my house then
III. As soon as
IV. I opened the front
(A L IL III, IV (B) ILIIL IV, I
(C) IIL IV, II I (D) IIL, IV, I, 1I

62. The following sentence is divided into four parts. One of the parts has an
error 1n 1it. Read the sentence and find the part containing the error :

“The movement which aims at
(I

raising awareness about climate change, hopes

(ID)

to bring people together to think about
(IIT)

what they can do for reducing harmful pollution.”
(IV)

A) IV (B) III
©) 1 (D) TI

63. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic (B) Untouchable
(C) Actual (D) Edible

64. Which among the following options is correct ?
(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost their loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.
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From Q. 65 - Q. 67 : Insert the correct options in the blank space :

65. On the moon, air because the Moon’s gravitational field 1s too weak

to retain an atmosphere.

(A) thereisno (B) where no
(C) no (D) 1sno
66. in front of a camera lens changes the colour of the light that reaches
the film.
(A) Placed a filter (B) A filter is placed
(C) A filter placed (D) When a filter placed

67. In 1850, Yale University established Sheffield Scientific School,
(A) engineers were educated there (B) where engineers were educated

(C) 1in which, were engineers educated (D) where were engineers educated

From Q. 68 to Q. 71 : Choose the correct pair of words which are SYNONYMS to

each other :

68. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal — Thrifty (D) Irmtate — Instigate
69. (A) Rely— Resist (B) Rule — Rue
(C) Secret — Clandestine (D) Site — Sight
70. (A) Deride — Arrive (B) Derive — Divide
(C) Deride — Mock (D) Mock — Praise
71. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (D) Citizen — Immigrant

From Q. 72 to Q. 74 : Choose the correct pair of words which are ANTONYMS to

each other :
72. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible — Unvisible (D) Scatter — Collect
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73. (A) Advance — Retreat (B) Abandon — Desert

(C) Elevate — Raise (D) Value — Success
74. (A) Acquit — Convict (B) Expect — Hope
(C) Faithful — Loyal (D) End — Finish

From Q. 75 to Q. 80 : Choose the correct options which best explains the meaning
of the given idioms :

75. “To split hairs”
A) To quarrel bitterly

(
(B) To complain about every small detail
(C) To argue about trifles

(

D) To study every detail minutely

76. “Nail the lie to the counter”
(A) To blame a person for something (B) To expose publicly

(C) To investigate an allegation (D) To lie vehemently

77. “To see red”
(A) To be mad with anger (B) To see danger
(C) Sunset (D) To be drunk

78. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (D) To act unfairly in a contest

79. “To beat about the bush”
(A) To prune the bush
(B) To approach a matter directly
(C) To approach a matter in a roundabout manner
(

D) To discuss a matter endlessly

80. “Bird in hand is better than two in the bush”
A) Probability is better than possibility

B) Certainty is better than possibility

C) Possibility is better than probability

D) Probability indicates certainty
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Q. 81 I 7}l Q. 83 T : ey ¥re UIf<G! farem Fefelbl @ fAue wif2 ATYAs 9 =F Aol
(0 SVYF | (S5 WBYS G2 [50! [+ 1 |

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q. 81 - Q. 83 : 1w JT=e (FFeaa w2y Feas AN <IiF Fpe = 3T Tt /a2 | (FRiD O
(A s sfo oY 2

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

Q.81 Fwm Q. 83 fam :
TEAEE 2FE A8 8= (options) THAT 21 AFY gﬁ?ﬂ @ (Pattern) 31 W& ®IAME
IR FE AT AL Al A 2371 | § SrARTE TRIEATS TaRa T A1 |

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

12 : I9A 9% 81 H 83 : fATaiRgd IR 9ol § | o T T9919 T2 # 99H & 3R 39T Th
TIE G & | I8 9 AT q fahe1 H136 |

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762

From Q. 81 - Q. 83 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

81. (A) 2837 (B) 7651
(C) 3925 (D) 9762
295
82, (A) 222 ® 129
3375 1331
169 289
C) — D) —
2744 5832
83. (A) s« (Emission) (B) &w=e (Pollution)
(C) 79 (Contamination) (D) teEEeal (Adulteration)
83. (A) FIst= (B) &
(C) 7 (D) TeEEEa
SPACE FOR ROUGH WORK
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i}

83. (A) IGTHA (B) Tt

(C) TA @A (D) AT T TAEAE
83. (A) 3IEIA (B) wgum

(C) < (D) foem=e
83. (A) Emission (B) Pollution

(C) Contamination (D) Adulteration
84. eme Tae fagea 37 e foefy 1 -

(A) 12 B) 18

(C) 22 (D) 26
84. T X1 v (=T fagrsa sl C+iite (@@ <Al -

(A) 12 (B) 18

(C) 22 D) 26
84. FAFINSE AFSH IW@IIAE ?

(A) 12 (B) 18

(C) 22 D) 26

SPACE FOR ROUGH WORK
=
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84. IS ARG H A 31 A [ HIAC -

(A) 12 (B) 18
(C) 22 D) 26

84. Find the number of triangles in the given figure :

A) 12 (B) 18
(C) 22 (D) 26

85. wge g, Q! @it

r(“‘f“\

ST arg <9 “[qt TGt T 51 -

(©) D) O O
O

93 (FAPNZT WET AT TFE A &

SPACE FOR ROUGH WORK
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85.

85.

85.

85.

e forgt, S, GifRl — €3 EAIGTEAR TR0 TS TFpend afefiry = ftafb
oore 4 :

(©) (D) OO
o

IRET (Classes) B ATEE 9T AHFCRE | 55 -RE a1 A8 4 HRAEHT THARE | A1 |
e feeddl, dienT, e

© D) OO
O

39 AT F1 Ted™ HL A1 T TT 11 % 1" o G911 Faad =1 F 01dT 2 -
7% Teedt!, dietepT, T

©) . ) OO
O

Identify the diagram that best represents the relationship among the classes :
New Delhi, Sri Lanka, Asia

- O
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86. Ifov@m “Iv© diferm e A<l o HTel [&! &I Svte =iz Wi | ez
(FT4ITE (1 HSId 21051 OI2F AEBTS “I0Z | FTSI (PR Y4 < wifee 2
(A) s B) “=
(C) T (D) ~f=6x
86. ol QR o] FFETHN AN QTS ST GFGT 7 G5R WPTZ | ATSr 72e1 @@
AT BRI HTSE ANHATH T2 | TS (FRCF 32 A M2 ?
(A) s B)
(C) Ted (D) “=6¥
86. T TR AT 50T T9aR ATRE AR SHAEAT FeME | A5aET Fiar aEEa!
I SFITA 3T | A 5= (et awg1 =1 gaF 2
(A) @re (B) &M=
(C) == (D) FFE
86. @l 3T Af9a1 gae &= H U gl & TE 1@ Y | Afgal 4 ¢@1 T aiar = a18 AR/ Ffar
HIBETYT | Faar fond fen =1 377 3@ o7 72
(A) e (B) T
(C) I® (D) Tf=H
86. Sarita and Savita were coming to each other in the garden in the morning.
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to ?
(A) South (B) East
(C) North (D) West
87. ¥ ad20%INE b=, TSCB 20T b% I NF R T :
(A) aT4% (B) av6%
(C) av8% (D) a=10%
87. AW a9 20% b = oCF 20 9 b% I A :
(A) a97 4% (B) a9d6%
(C) 297 8% (D) a<9d10%
87. ¢ afd20% 371 b AT 3781 20 4 b% AT S A S |
(A) afi4% B) afi6%
(C) afi8% D) af110%
SPACE FOR ROUGH WORK
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87. Aca®H20% b7, A20HTb% TAH 7 :
(A) a=hid% (B) a=16%
(C) a®18% (D) a®110%
87. If 20% of a 1s b, then b% of 20 1s the same as :
(A) 4% ofa (B) 6% ofa
(C) 8% ofa (D) 10% of a
88. BTG IR CPRICH! I R ASTT “aT Qg o ATATS O (T e %S =itg ?
(A) D B) W
(C) R D) E
88. T G D AN WP (2T AW (Tth) FT G TH 75 (AT QITrew (16th) %
itz ?
A) D B) W
(C) R D) E
88. SISt RS MIEAN A o1 BRG 1371 SAFTEN w61 g fufF stmtarwm fefgsma g 2
A) D B) W
(C) R D) E
88. TS FUHATA 1 HH 91 A& T & AleTad AGLH F0 9 Aad FH RT3 7
(A) D B) W
(C) R D) E
88. Which letter of the English Alphabet i1s the seventh from left of sixteenth
from right ?
A D B) W
(C) R D) E
89. “UE 71l Wbl JE© ST (2 A2 Witz | Wew, @f2e oF 7 HAEed NEe Wig | 3
TS AASTICE W7 | @IS eI ASTHIE WZ | e TF T (el 20z ?
(A) (B) *oR=
(C) &ifze (D) waEs
89. T (203 JTIFIA WBIZ 2R I AT | TSR (A2S QR FEGTod N2 AT | I

TN ANTCE, (@20 AN IR | (F NG TP TR 07 2
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(C) tafzs (D) 7ErEe
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89. HMI FEMWH] AME @A [SUEAT CHM | Uad IW garadi 5w SFAEs e |
FAAHAT WA AT AR UaasT1 o FAFrary T | 3793 AFEIIYRE 9)
e 2
(A g9d (B) A
(C) Ufed (D) e

89. TI= oIS UH B H UF gAL B A1 Hd BU 93 & | 35, U ad AN grorsia 514 & | g,
JATIEA % IS 3R 2, Ued, GAA % T8 3N 2 | TI S 3% A HE A3 2 7
(A) g94 (B) WM
(C) ufed (D) gt

89. Five boys are sitting in a circle facing inward. Ajay is between Rohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay ?

(A) Suman (B) Shyamal
(C) Rohit (D) Doljit

90. T I(F (TSI T 3 TF THT AT ($6T R (9€7F @7 KA vifae | 7% 3
259 129 (997 7[@F R 15 T29 W, (0T (OST 917 IO R (208 —

(A) 60 3=3 (B) 519%7
(C) 487=3 (D) 45 3=3

90. OTE (AT SIF FF (AT [ ITA T AR OIF (ZFET RO T @7 qT | WK 3 90/
9 O (Z0oTH 3 15 I B, O I BT TENH R/ F© 2
(A) 60 IE (B) 51 I
(C) 4830/ (D) 45 30/

90. I AFraET TaM fefaimgs F@R 3 giEa AR T fFamand §3 4 13 097 | 3

THATSAT AT @R YT 3919 15 FER TERA], § A tarard Sa131 ATI@TEaH =
592

(A) 60 FER (B) 51 @R
(C) 48 9N (D) 45 TER
SPACE FOR ROUGH WORK
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90. TUH HTEH I T & 3 AT 51 2 IR FATH A FARTTAT TSI 2 | A¢ 7 3 79 A8 15 99
12T 2, 1 366k Tl 1 FaAH A 2 -
(A) 6039 (B) 5139
(C) 4879 (D) 45 a9
90. A man is 3 years older than his wife and four times as old as his son. If the
son becomes 15 years old after 3 years, the present age of his wife is:
(A) 60 years (B) 51 years
(C) 48 years (D) 45 years
91. % ‘HONESTY & 5132468 f20ita &= POVERTY % 7192068 f2rita fa4i =,
(S0® G5! (F0eta ‘HORSE' = &< =1ifai ?
(A) 50124 (B) 51042
(C) 51024 (D) 52014
91. % ‘HONESTY 5132468 f20o7d (7141 =/ €& POVERTY’ 7192068 [Z01d @4 =,
IEE G2 FACS ‘HORSE' <5 ©itq (&7¥if AR 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014
91. Jfe HONESTY @1 5132468 = fewml 3™ POVERTY @1 7192068 =i
foRAEEeT S W8 TR BT (code) ST HORSE @1 Amatt fewstrm 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014
91. 3fe HONESTY %1 5132468 37T POVERTY &1 7192068 Ter@1 S1a1 2, a1 351 g d
HORSE =1 fer@1 51 2 «
(A) 50124 (B) 51042
(C) 51024 (D) 52014
91. If HONESTY is written as 5132468 and POVERTY i1s as 7192068, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 (D) 52014
SPACE FOR ROUGH WORK

SLRC-2022/P-ITI/D 56 et



92. 200 . 3= 100 f¥. T7Rf 72 @@6IS! Few 20 W,/ OrFs 3 22 ./ 0rFe® @9
TG ST 9ifs FF 0 | A% @IS 72 QT5! TS S Fa, (ST Q4T SH2eh
ST FACH [ IR SRS 2T ?

(A) 2120 (B) 135 Wire
(C) 150 WCes (D) 120 Wepe

92. 200 RGE =l @ 100 G174l 725 @@elife HigArETea 12w 2o eans 20 ~oE
@ #l® e 22 RE[A 5fers Tz | AW (57 926 Ja[d 92 (M0 Tlel i A
TS S SN FACS TS PR FANMA ?

A) 212 TP (B) 135 0%
(C) 150 TIPS (D) 120 CTa%

92. fem ST @wA™ HId 200 3. 31 100 4. Mo e 74 TrEfas s 20 fa./4.
I 22 Ta./4. | e @re 7 W feTE @ REal, 39 TETE 3438 SR a7 aFE ?
(A) 2124 (B) 1354.

(C) 1504 (D) 1204

92. 200 e 3R 100 HeT &l 31 24 A 20 HeUAFE 37 22 Her/Fhe Fl g F AR
=l &1 8 | Afe ¢ Uk 21 fean 9 W E; d1 38 b gal 1 T ohid H fohe1 0 o 7
(A) 212 %= (B) 135 d%s
(C) 150 &%z (D) 120 ¥Fs

92. Two trains of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
each other, if the trains are running along the same direction ?

(A) 212 sec. (B) 135 sec.
(C) 150 sec. (D) 120 sec.
93. FToE T FRIFRT “[l 2 5.5, 17 9 FF == ©F F+zs i ¥« 8 fa.f. ar |

©F e e A 2 RN W el 4 TR IR | SEeie o ST g9
1 5.5, sfeay T i e @b ms Sofee & | FIoq FEER oF Q4 HmE0d VST
TSN S TR (202

(A) 25T, B) 137,
(C) 127, D) 17755,
SPACE FOR ROUGH WORK
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93.

93.

93.

93.

el ofF =it e @n 2 e dfins, 8 feefie o safs, s+ 2 faefus
i @R SiAvE 4 fFefve wfes s AR | @ of aw s e o 1 e @b
SR R (MR | FIOH H[APT 43R ©IF SFRF W KIS AR F79 (aerial
distance) & :

(A) 25 TFefe B) 13TFe™e

(C) 12T D) 17 TFeme

FHaE TEA ARG AR gEemy 2 . 9@ | sfawE et e 8 km
(fep.111.) gramAM gAY 2 .M. gEEEE IR TF ey 4 .M. 9= | SEyEE
T symiaty firfen 1 fo.fa. gmEm=Am et 77378 99531 | SiEai aegia TR s 114
TS THMH FRTH (Aerial) ST STEE

(A) 25f®fm (B) 13f=.fa

(C) 12f®fm. D) 17f%1a

FHadr 3 HATEE 9 2 15,91, T3 &1 AR Fadl 2, 76 8 fob. 1. g 371 3R f 2 6. 1.
T4 T IR 3R T 4 T . feqon A1 TR =erdt 2 | 379 9 9 970 gedl 2 31 30 3
@ Teaq % feru 1 fop . grotdt 2 | Hfaar & s@Eied 37 386 319die & o =Had 2918
(A) 25 T®.H B) 13f®.4.

(C) 12f=.4 (D) 17 .4

Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she

turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita’s office and her apartment is :

(A) 25 km (B) 13 km
(C) 12 km (D) 17 km

94.

94.

35 : 6 7 e SRR YiF(e® ey P T TR 4 |

(A) 85:9 (B) 64:8

C) 26:5 (D) 120:11

P 72201 TETih 35 1 6 9T NS «FBTR Bt wHFS ©f W 9 |
(A) 85:9 (B) 64 :8

(C) 26:5 (D) 120:11
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94. TTEETHT FATH & TG 9@E, S FAT91 421 35 : 6 TEed AHEFErHET |
(A) 8:9 (B) 64:8
(C) 26:5 (D) 120:11
94, 39 FEIT I H1FIA HL T FTH gHI HEATE 36 THRL THId 2 I 35:6 2 |
(A) 8:9 (B) 64:8
(C) 26:5 (D) 120:11
94. Select the number pair in which the two numbers are related in the same
way as 35 : 6.
(A) 85:9 (B) 64:8
(C) 26:5 (D) 120:11
95. IS = wCAR YrERer ©2f el TN e
(1) TR (2) T (3) famae
(4) T (5) feramist (6) AR
(A) 1,5.4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 D) 1,5,2 4,6, 3
95. foca Srar<e Wit el @3t welvj e el
(1) ¥ (2) T (3) =T
4) 3% (5) Frmie (6) el
(A) 1,5.4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4.6,3
95. TTEMETE 2 ACEHEGE | JIFFT[] IR SFTH BIHEE AT |
(1) ~m (2) EEd
(3) HEEEEE (4) 3I@ET
(5) TTEEATY™ (Low Pressure) (6) g
(A) 1,5.4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 (D) 1,5,2,4.6,3
95. faAfaiad weg] 1 Alfhes 3R ALV 3HH § AT 10 -
(1) = (2) HEI (3) T
(4) =T (5) FATH 6) =3
(A) 1,5.4,2.6,3 (B) 5,1,4,2,6,3
(C) 5,4,1,2,3,6 D) 1,5,2 4,6, 3
SPACE FOR ROUGH WORK
EME
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95. Arrange the following words in a logical and meaningful order :
(1) Cloud (2) Rainbow (3) Devastation
(4) Rain (5) Low Pressure (6) Flood
(A) 1,5,4,2,6,3 (B) 5,1,4,2,6,3
C) 5,4,1,2,3,6 D) 1,5, 2 4,6,3
96. (I 9T [T AL (KIS WW% : % % = F AT 104 .. | fagenrm
52 A1 AT K
(A) 52W.. (B) 487Tw.f.
(C) 44w D) 40w.f.
96. @G fqered Aed ST %%% @32 #fff (perimeter) 104 CTHRGA | fagrea
e e’ =
(A) 52 TAGRGE (B) A8 TARGE
(C) 44 oRGE (D) 40 TToGE
96. HHH FREMIYMA FETABRA FTFABHT JEE % % % HW Arfrfe fammn s
104 .18, | 3 FTRETRIGTAM T o1 AT SR =
(A) 523fa (B) 48 &fm.
(C) 443fa D) 40Ff
96. Qaa%rga?ﬁgmaﬁmm% % % 2 3T 3961 T 104 9.4 3 | By =1 959 o7&l
(A) 523 (B) 48 7.1fi.
(C) 44 T (D) 40 A9
96. The ratio of the sides of a triangle is % %% and its perimeter is 104 cm. The
longest arm of the triangle 1s :
(A) 5Zcm (B) 48 cm
(C) 44 cm (D) 40 em
SPACE FOR ROUGH WORK
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97. f2RIZ @<« T BF6 e Faes, A9 GERe [2R12 BF6 I F9 20 Ve ST
3§ 7S Sed | (GFR @ ¢I[aR 45 e g feriE oo viEfes | fzr1E Tem
[

TR 16 T R TEeE {@ #ie Faes | A (2rE @eana HHo g Tz,
(o0 TENHE 3@ #1re < 91 G 27# 2

(A) WFAT (B) =131
(C) ¢isdd (D) ¥

97. 2Rl @FG TAMGLEA (movie) A6 R (booked) FACZ AF WX © 2% THMGH
(trailer) {[& 7% O w6 35 T 20 [V 7[C4 | TAGLad 2W© 4%Ud (trailer) 45
7 “[ CTTA6AD (movie) (TdlZa | f2R1 T&mean 4@ 16 fm ‘IﬁUﬂfﬁEﬁ (movie)
§F cfRxfes | aw of a9aea Bfes 9@ (booked) FAZE O AXCEA (@ W

TG @ (e ?

(A) ®&AF (B) *fearE
(C) af@™ (D) ¥

97. = =1 A" AEyF fefsha a1 5 A@YFAA trailer @1 T84 fefeha sm=mM@E 9 20 farmn
fegaaE@EaE | 931 4 9@gTE! trailer fegA9=E amA @1 45 T3 39@ 1531 | &
FragAE ! =t AEaE 9 9 16 @i fegaa@ @ | Jie 531 Tear @id 9 aEgF@!
A, F FEYA FEITE A F9 A (egATEEE ?

(A) TFIR (B) &R
(C) Te=m (D) TTEER

97. T 7 v Tohem =1 Toshe 3 o Toraent oo Teshe 99 3 1 20 Ted Tar i fmanran 9 |
o Tefts 2 % 45 a7 71e 93 frea qet 2 | frea 3ater 3 16 fea 10 fefie g2 ¢ fom
e firan =1 Tem a@t ot | A & 4 fea Tre fefia g2 off 371t 399 d9am &1 fohe 9%
BRI

(A) IR (B) IfER
(C) TFar (D) WIeER
SPACE FOR ROUGH WORK
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97. Priya booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 days after the trailer was
released. The movie was released 16 day before the day on which Priya
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Fnday (B) Saturday
(C) Sunday (D) Tuesday
Q. 98 T %11 Q. 100 T3 : Sey=ifEe wieqf / 3¢ / =% ool =t
98. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q. 98 to Q. 100 =F~f¥s sl / 39 / = cditer (@7 Al :
98. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
Q. 98 A ™ Q. 100 fam
QIEICIPICE SR ClE I EE I
98. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18
99 TEAT 98 | 100 T T TEAVHAYINEE HTd 1 AU |
98. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18

From Q. 98 to Q. 100 : Find the missing numbers/letters/words.
98. 5:27:9:

(A) 83 (B) 81
(C) 36 (D) 18
99. AQRD : BRSE :: LMTJ :
(A) MNRK (B) MNSK
(C) MNUK (D) MMUK
100. Bus : Driver :: Horse :
(A) Saddle (B) Rein
(C) Horseman (D) Stirrup
SPACE FOR ROUGH WORK
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